


Question 19 
 

Sample 1 
 
E = 0.68 * 925,000 = 629,000 
XS Loss = 0.18 * 925,000 = 166,500 
E(L) = (0.68 – 0.18) * 925,000 = 462,500 
 
LER = 1 – (0.18 / 0.68) = 1 – 0.7353 = .2647 
 
Adjusted E = E * Hazard * (1+ 0.8 * LER)/(1 – LER) = 932,933 
 
ELG = 28 
 
R = 900,000 / 462,500 = Agg. Ded. / E(L) = 1.9459 (round to 2) 
 
Insurance Charge = 0.06 * E(L) = 27,750 
 
Loss Cost = XS Loss + Charge = 166,500 + 27,750 = 194,250 
 

Sample 2 
 
Expected Unlimited Loss = 925,000 * 0.68 = 629,000 
LER = 0.18 / 0.68 = 0.265 
Loss Group Adjustment Factor = 1 + (.8 * .265) / (1 ‐ .265) = 1.65 
 
Adjusted Loss = 629,000 * 1.65 * .90 = 934,065 
 
Loss Group = 28 
 
Expected Limited Loss = .50 * 925,000 = 462,5000 
XS Loss = 166,500 
Entry Ratio = 900,000 / 462,500 = 1.95 
 
Insurance Charge = [(1.95 – 1.5) / (2.0 – 1.5) * (.06 ‐ .148)] + .148 = .0688 
 
Total Loss Cost = .0688 * 462,500 + 166,500 = 198,320 


